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(i)  All questions are compulsory.

(ii) There are total 24 Questions in all.

(iii) Marks for each question are indicated against it.

(iv) Questions I to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer Type-I questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer Type-I questions carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer Type-1I questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answers should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.
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Kumar belongs to a farmer’s family. One day a team of officials from the local block
development office visited his village for discussing additional opportunities related to
agriculture. The team discussed with the villagers how to develop fishery. The team
explained about the technique of construction of ponds and the modern technology of
growing fishes. The team also informed that the ‘State agriculture department’ will
provide loan at an interest rate of 2%2 % per annum to the farmers who will engage
themselves in the occupation and will also help the farmers in the marketing of the

fishes. Kumar, decided to engage himself in the fishery occupation.

Identify the ‘idea field’ that helped Kumar to engage himself in fishery

occupation.

2. ‘AT GIAAEX H T 3T ¢ 92 1

What is meant by ‘business opportunity’ ?

3. HERRC 99T ‘G feg TNaR e’ § SIehad TSl o YR X = ST | 1

Distinguish between “Partnership’ and ‘Joint Hindu Family Business’ on the basis of

maximum numbers of members.
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ST € | 300 R [a9eiuuenss Tt ST SEW STaT Jal & foerur 99 o6 S €, fomoe
oI o foreera feman siran €, ot o1 dviea fohan STan & e veTet Sl Al ST S
g

TTshaT i TET HitT | 1

‘It is a process which involves the translation of a useful idea into an application which
has commercial value. It takes persistent effort to work out analytically the details of
enterprise or service, to develop marketing strategies, to organize finances and

strategize operations.’

Identify the process.
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What is meant by ‘Financial Synergy’ ?
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Gunjan has just passed her senior secondary examination from a CBSE affiliated
school. She wanted to start her own business but was unable to decide about the nature
of the business. One day during the morning walk her grandfather fell down in the
park and was injured. She observed that her grandfather often forgets to take his
medicines. She thought that the same problem may be faced by other old people. She
thought to develop an instrument for old people that could be fitted with an electronic
device connected to the mobile phones of the members of their family which could
indicate the location of the old people when they go outside their homes. This device
was to be kept in their pockets. She also thought to fit a timer in the instrument that
could remind the old persons about the time of taking their medicines. Identify and
state the meaning of the concept described in the above para that helped Gunjan in

structuring her idea for solving the problem.
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3INTT | 2

When should an entrepreneur choose company form of business organization ? List

any four points.

fohel <1 ISR ol Fer™ar ¥ Sifgeh HueT TR o 319 iy | 2

With the help of any two examples give the meaning of intellectual property rights.
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Shilpi Ltd. started the manufacturing of herbal toothpaste. They researched that large
number of established enterprises were also manufacturing the similar type of
products. The company fixed the price of their toothpaste on ‘cost plus method’ of
pricing. After some time the company realized that they were not getting good
response regarding their toothpaste from the customers and the market share of their
toothpaste was less than 0.5% . Since their product was new, they decided to change

the pricing method so that initially they could get more customers.
(a) Identify the new pricing method that was adopted by Shilpi Ltd.

(b) State any two advantages of the new pricing method identified in (a) above.
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10. ‘TH. T L Gl God W 5% & T3 W A1t a°at & 1 1.3.2017 T TATA, HEE F
TR S TS el ol faeror T URR 9

TTEHT H1 WA T Urees foer 1

3
50 340
45 370
35 650
30 800
25 975

i UTeeh Sl TS SenSdl i SEd TR ! 0T BT |

‘H.L. Chemist’ sells medicines at a discount of 5% on list price. On 1.3.2017

medicines as per details given below were sold by ‘H.L. Chemist’.

No. of Customers Per customer billed amount

4
50 340
45 370
35 650
30 800
25 975

Calculate the average amount of medicines sold per customer.

11. 37 HEITh-37eh AT S ol AT 96 T 3o 3797 JRalad ot § 0T e &t
G TEAT ¢ |

List the socio-economic benefits that are expected to be acquired by an enterprise from

its proposed investment.
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12. 997 o1 9 |9 R U= 0T BT
Ll % 6,00,000
10% o1 X 2,00,000

T e 365 o T 1,40,000 | € o oo HIT & wfd $93 U oG GHAT W T8 e
T T 2 3

From the following information, calculate ‘Return on Equity’ :
Capital % 6,00,000
10% Loan ¥ 2,00,000

Net profit before interest ¥ 1,40,000. Also, state what is this return on rupees per lakh

of equity.
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Trer 3 370 T4 o W 5 SR Wl #, SHh Hewd & [l 9 [agei @ Seoid
HIT | 3
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Gopal is a young man of 23 years. He has completed a tailoring course from a
industrial training institute. He wants to start a big size tailoring shop in a posh colony
where young men and women working in various multinational companies line. He
went to one of his friends who had completed a B.Tech. course in textile designing to
discuss about the opening of the tailoring shop. His friend advised him to prepare a
written document describing formally all the relevant external and internal elements
involving in starting a new venture. It will not only help in understanding the
feasibility and viability of the proposed venture but also facilitate in assessing and

making provisions for the bottlenecks in the progress and implementation of the idea.

State any six points of importance of the concept discussed by Gopal with his friend.

14, Torar qen iR} we At Sier € SFe 4 99 & 9 e & | e a6 e v s
HIAT | & TN g AT T UGS & | TIRT N W BT Uk FHEF 2T G & qAT Ig o T
AT TH-TGL o G S hl T Bl H @l § | T 70 9 TeT T Aels o Th
Tidied forme™ | waeT S 1 =ed! § W] ¢ el § S | 3TEme € a7 U 06 &6
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www.nurseryadmission.com =TH ¥ T Je¥IES FI [Th L TAT SHTEE W 3T o1
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Shiva and Gauri is a young couple having a four year old son Rohan. Shiva is
employed in a multinational company and is posted in Germany. Gauri has her own
computer training institute and is staying with her son and in-laws in a locality of
Bangaluru. Gauri wants to admit her son in a reputed school of Bangaluru but is
unable to visit schools and identify the one, where she could admit Rohan. She
discussed the matter with Shiva. Shiva identified the problem and advised Gauri to
collect on-line data related to admission, infrastructure facilities and related
information about schools of Bangaluru, so that a suitable school for Rohan could be
identified. He also advised Gauri to develop a website www.nurseryadmission.com
and upload the information of various schools on the website. This website could be
visited by the parents who wish to admit their children in the nursery class in schools
of their choice. Shiva also told Gauri to employ a computer operator for this purpose
who could update the website regularly. Large number of parents visited the website

started by Gauri on payment of an online fee of ¥ 100.
(a) Identify the entrepreneurship concept discussed in the above para.
(b) State the objectives of the concept identified in (a) above.

(c) Identify any two values that Shiva and Gauri tried to emulate.

15. a9 & 941 37 § 2 AT Tttt o o= aeieson ®i get Ty | 3

What is meant by business ? List the different categories in which business activities

can be classified.

16. ‘TSR’ &1 47 31 € 2 AR BH o YsTihd 7 &1 o INOMHT 6l Sooid iy | 3

What is meant by ‘Partnership’ ? State the consequences of non-registration of a

partnership firm.
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TMee Wiy W@fd a2 GuaT % e alcll U ERR! &9 of | 39 Wied” foaga qen
TUTE % T el Tk TERT WIRIRRY WH ot | ¥fd a9 uAt 1 ; 2 % ST § oy sted o
TqT 0 Ud WorE 2 ;3 % A H o |ied o | S B ATl & Ush Uig SR § e

off TAT I FoATT Ufeqelf o | ST Wiy % WERR v F 3@ % 396 9gd ¥ qew
TR G & T 35 B 5 A I & 8 &1 F o @ieft S df wH Sga a1t oy
AT X T & | “Toe @ied i [eafa ot TE e of | U KT 0% 9en 7 % W T
FEAHA | T FHT o WEERT B W 5 | IHAI FAH % HBER ST o {6 STH EH H
3TN foReY TE T | 37: 36 1 B o foerd o1 Forg foran | 30 32va ¥ foora #t
AT T ST G S o T S Toh SR SR et i o fera |

AT 1.1.2016 1 ST AT T foeTg &1 71 T T 98 ®H “3T9H Moed @ied’ H
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o7 131.12.2016 o THIG ¢ a9 | ®HF = ¥R & fafg= 9FT | =R 92 @ et q=n faseg

T 30% I T |

(@) T A GRT WG o1 3 ThR i Tea HifT a0 Tqe 37 Jareu |

@) Tl 31 31 TR & Taeral & A qun o off S |

‘Golden Sweets’ was a partnership firm, owned by Swati and Sushma. ‘Asam Sweets’
was another partnership firm owned by Vipan and Pranav. Swati and Sushma were
sharing profits in 1 : 2 ratio and Vipan and Pranav were sharing profits in 2 : 3 ratio.
Both the firms were situated in a famous market of Guwahati and were doing
competitive business. Pranav the partner of ‘Asam Sweets’ observed that many of their
customers were from far off areas and if branches of ‘Asam Sweets’ are opened in
other parts of the city, the firm may earn huge profits. Similar was the situation of

‘Golden Sweets’. One day in a function at a common friends house, the partners of
10



both the firms met. The partners of both the firms knew that the internal expansion of
their respective firms will be costly. Hence, they decided about the merger of the two
firms. For this purpose they decided to meet again to finalise the conditions of merger.
Finally on 1.1.2016 their respective firms were merged and a new firm ‘Asam Golden
Sweets’ was formed with all the four partners Swati, Sushma, Vipan and Pranav. Their
new profit sharing ratio was 1 : 2 : 2 : 3. During the year ended 31.12.2016 the new
firm opened four new branches in different parts of the city and earned a profit of 30%

on sales.
(a) Identify the type of merger adopted by the two firms and also give its meaning.

(b) Also give the names and meaning of two other types of mergers.

18. U WE-319 & ot sAre@iaes A & fafi= el o 90 § 9o sifsd | 4

Describe briefly the formats for the business plan that a start-up may have.

19. o= Ysh o S ATHI I THIAET | 4

Explain different types of brand name.

20. A A TAT e’ A9 ¥ UH T 3RET fRAr | 3T AT U St A Tl SUSHIOT o
TAT UTEHT ! TYHT & ST H Terdr & a0 Irg airetes Fged 6 | 38 3 | ufa

HUST FH Yo @I ANk TRIT URERT % Fogash Ta Fogaraar ot {5 & gferansti s 3uam

F T | TG I ITHT T ANBDIA & T A IT A WA H = SR @4 |
3% ToT 3 Sl wfererent 6 T & | SoR sifaRed meie off ohme it et
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UTEeh I YaTT {531 ST T | Tk 99 H a8 3707 o HHH o | ST U9 % &l Ueh 9ol

FRTa TR o foran e afeg ARt & folt Ueh “HAST T2 2o Fofd” 9gd 0 hid TR SR
foram | 3E a1 Tl U oTefRal S MEFEA §RT URY U MU g ShEE § 9 oF %
foTw off IcaTfed o | o T0eh ToiT Wend &1 T a1 3=i- R arel 51 v TR Fod
% Goi o U =l Yol Uidie- STTHUTT o &1 b TS & fold FH 3T URT Y {5 |

(@) T H ST 6 =1 U AT H oA bl Tgd-g Ud THeLy |

@) UQ Tl ot goat ! vem o i f5= T e e = o |

Raman started a gym named as ‘Strong Body’. He installed large number of machines
and equipments of different types and appointed qualified trainers to help the
customers in the use of machines. Initially he kept a low fee per hour so that boys and
girls belonging to the poor families may also avail the facilities of the gym. Very soon
his gym became popular and he started operating in three shifts. For this he appointed
additional trainers. He also installed extra machines so that more customers could be
enrolled. In one year he started earning good profit. He took a nearby building on rent
and started a ‘Recreation and Health Club’ for the senior citizens of the locality on
very nominal charges. He also encouraged young boys and girls to participate in the
cleanliness drive started by Prime Minister. They agreed and started giving one hour
daily for cleanliness of the nearby areas before opening of the ‘strong body’ gym and

‘recreation club’.

(a) Identify and explain the type of business expansion that took place under the

entrepreneurship of Raman.

(b) Identify any two values that Raman tried to propagate.
12



21. WARR 9 UG U QERR ®H Il 3 & | BH W doll o 3ce U faque § o1 g8 € |
HATER SAAIE TN HIFe Ha™ & 37 TaleiT i 3@ T o7 | B 37T Hedr He el
off T STNT T A T F 3Tk o HHT T & | ST IR Ueehl q1 Fadd & 5[ 317
N & T 3TEST AT | I 3T HHETHS AT Sgd e d G i & | 3% g/
ST WEI-dol U, UE.UE.T.3TE. (fssai) §RT (ERa Al o @R & |

(F) TR TAT GHe Ui §RT AR Sl ST aTelt HETe ST o Ueh-Ush UK i THeET |

(@) TERT T°1 gHe §RT 310 T T 31 godi i e off it | 4

Manohar and Manav were running a partnership firm. The firm is engaged in the
production and marketing of edible oils. Manohar was looking after the production and
Manav used to look after the remaining operations of the business. The firm was doing
good business and earning profits more than the rate of profit of the industry. They
used to be fair in their dealings with the customers and other stakeholders of the
business. They used to do their quantitative planning meticulously. The edible oil

produced by the firm is as per the fssai Standards.

(a) Explain any one type of plan prepared each by Manohar and Manav with

quantitative expressions.

(b) Identify any two values observed by Manohar and Manav.

22. Sl A, U MEHET Tl H Wl SRl SR HHERT ®d 8, decell % fau ue

o o

FIATIEITT S St SHM 3TRET &t | 3, 379 AGT T THA S &, TIh G | 6

Jaishree started a readymade garments shop for ladies in a residential area where
mostly government servants live. Suggest her the ways to make her business a

successful one.
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=Y 3 T Ushel WH SFAE I fFAT | IHHT 3THH ¢ 1o Ui e 3qeh foshar T 12 o
T | 3T T oSt A ST famT ¥ IW STEvIE Yol U FRA Hl Gl & | Y ]
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Ghosh started a sole proprietorship form of business. He expects that his annual
turnover will be ¥ 12 lakhs. His friend Bannerjee advised him to obtain the necessary
document from the Income Tax Department. Ghosh wanted to know about the
document and also the parties who must have it. Bannerjee explained him the meaning
of the document and also explained the different parties who must have it.

In the light of the above statement :
(a) Give the name and meaning of the document explained by Bannerjee to Ghosh.

(b) Also, state the parties that must have this document.

“oTg T U G w0 § foxi Sl b ARt @ Sardat st ST BT et 7T § 1

() TH T P UGG HISTT T 39 [l FhRT i gt FT |

@) ST (F) H TTH T dF & Td S T ST oAl SAfaat sl T T A
TATRY | T & AR B T HEwd o fohal 9 fage i off gHEey |
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‘It is an organized mechanism meant for effective and smooth transfer of financial

resources from the investors to the entrepreneurs.’
(a) Identify the mechanism and list its different types.

(b) Name the association of persons established under the mechanism identified in

(a) above. Also explain any four points of its importance to investors.
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